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Q.1 Questions /=y A B C D
Hnsislog, x log, x log, z log, x log, y
1. —— o
log, x will be equal to: log, z log, z log, y log, x
A pen L 8x' + 27y
9. (21+3y),(4x’+9y') (2:(—3):),(4)(2 '—9)/2) (2x+3y),(4x2—6xy+9y’) (2x-3y),(4x* +6xp+9y")
Factors of 8x° + 27y’ are: ’
.-F P10 X2+ x— 6 sl x —2 UM
3. (V X x*+x—6 x+3 x—2 x+2
H.C.Fof x—2and x~ +x--6is:
e Fiowsbat — b sa® + b
4, 42' ! — at+b* a’ —b* a* - b a-b
LCMof a“°+b°and a” - b"is:
0Lk (0,1) 1 (1,0) 46
S. | Distance between the points (1, 0) and 0 1 V2 2
0,1 is:
W S¥3—dx <11 ebl Foulife Sy iy
ITJB dx <11 ebl e PENOAT 14 (ﬂ’((fdfé—kfu’
6. | Which of the given is the solution of the -8 -2 s
none of these
inequality3~4x <117
edryiny=2x+1,x=2/
" 2 3 4 5
ffy=2x+1,x=2then y is:
Jloast Sl Us o L. B (5 2 55 L
3 ,QL‘ﬂéb/., b <k I s Llhos
. A point equidistant from the end points bisector rightbisector perpendicular median
of a line segment is on its:
c‘”uiwd_ fé-/::ugé.,‘b):.cy
i
9. d 44 341 24 14
The medians of a triangle cut each other
in the ratio:
-4—;))5/{2 1} b/‘[;
10. 2-by-1 1-by-2 1-by-1 2-by-2
The order of matrix {2 1} is:
e8P
1. . & 1 -1 i —i
The vaiue of " is:
S ¥ I Ll ol F
2, ] - L L 2-by-2 1-by-2 2-by-1 3-by-2
Which is order of a square matrix?
e LA Flog, a x log, b
13. log,c log, a log, b log, c
log, a x log, b can be written as:
- e | ol b A wl A
’ Every real number is a: positive integer rational number negative integer complex number
a* = b?
-G Al b
a-+ 2 “
5. 2 _p2 | (a—b) (a+b) (a+b) (a-b)
is egual to:
a+

Y
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Note:- Section I is compulsory. Attempt any three (3) questions from Section I but question No.9 is compulsory.

(Section~1I Jﬁl )

Fe o “
2. Write short answers to any Six parts. (6x2=12) & el E L gy 2
i.  Find the transpose of matrix. B=]3 1 = 6] ~é(!"“‘b‘ejl/‘la’../l:‘ &
1 3 -
ii.  Find the determinant of matrix. B= \:2 B 2} ,ér?’éyb’yjli di
iii. Express as rational number. 013 -éﬂ(}‘uf«;ul[)bb i
iv. Evaluate. - (—l')B | . ,é‘;‘(’('}”u.;. v
v. Find the vaiue of x. log, x=4 ,ér}”c/fd x v
_ (22)" AP ds; T
vi.  Write into sum or difference. log~—53—— PPN ALL K i
vii.  Simplify. 2(5\/5 ‘3\/5) A2 i
2 el
g . ; . ,grlaubl:f@/
vii.  Rationalize the denominator. \/g _ «/—3~ vii
ix. Factorize. 3 y(x-3y)-7xy* (x-3y) A5 i
3. ‘Write short answers to any Six parts. (6x2=12) _ég F ez 4 L,lzlzc(}f " ol
i Find the H.C.F of the expressions x’ + 5x + 6 and ,é()"’df.“;ju:fl;bb’xz CA4x—12 X +5x+60UM
x? — 4x —12 by factorization.
x+1 5
- . =2 Xy~ ,éé ebbe
ii. Solve the equation. %45 5 (J’ s 1
i, Find the value of x. x+2]-3=5-|x+%| e Alx i
iv.  Find the values of m and c of the giveh line 3x+y—-1=0by m »{LLJ//;‘J?&.ﬂ'y =mx+cf3x+y-1=0 bl v
expressing it In the form y = mx +c¢ . ,Z“r}"uf’fd/ ¢ sl

v. Verify that the given point (0, 0) lies on the line 2x—y+1=0 s L 4;,51)/, 2x-y+1=0¢4(0,0 Jﬂﬂ;féd.)ﬁ v

or not? ;

vi.  Find the distance between pair of points. A(O, 0),3(07“ 5) -ér)”ybé(_/ub’z_.}ﬁéﬁw Vi
vii.  Find the midpoint between pair of points. A(6, 6),3(4,”2) _aérk’ﬁ&y»um[,m il
viii. If AABC=ALMN, then: Jn AABC=ALMN, /1 i

® LM LM = oo ©
@G MLN Z oo T | T ()

ix. The given figure LMNP is a ,q,CIPU!(jJIF"J:i LMNP u:‘f’@f(j) JiX

parallelogram. Find m and n. ,a‘ér}"’uf’fén sm
4.  Write short answers to any Six parts. (6x2=12) ' ,2’-54 Feliz A Lnge 4
i.  Inthe given congruent triangles LMO (}”bui LNO » LMO UWwagé) A
and LNO , find the unknowns xand m . - N ,éf}”ui.ﬂﬁfé m sl x
M, N
m 0 12

12 / o, (Tiirn Over 27(31))
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. 1f13cm,12cm and 5cm areg the leng‘ths ofa triangle, then verify that difference of measures of two sides of a triangle is
' LY - . " -

]
less than the measure of the third side.

Wi Define Proportion. Hafb il
Ao 2
. Find the unknown yalue in the given figure. 10cm y ’-“r}”dér}”buﬁfdﬂd: v

oem

X
,%,mmw/zém,uz a=16cm,b =30cm,c =34cm ol ing v

v. Verify that the triangle having the given measures of sides is a right angled triangle. 4= 16cm,b=30cm,c = 34cm

NIRRT 24
vi. Define Rectangular Region. Aé_g Vel é,; /&% i
vii. Find the area of the given figure. -éé()”,ﬁzb’(}/’éné; i
4dem
viii. Define Circumcentre. ,éuﬁ A 69’/ (il
ix. Constructa A4BC ,in which: mAB =3cm, mAC =3.2cm, msA =45 S gl ABC o ix

Section — 11 C”“W
(4528) 489 /dtru? ANy A _Erehnlativt 8

Attempt any thres questions. Each question carries Eight marks but question No.9 is compulsory (4+4=8)

5.(a) Use Cramers ruleto solve the linear equation if possible. ,mja flé’d’ fu?hl/z,m(jc,‘]lil—,{f (a).5

4542y=8
x-y £l

% (5a\h.

216Y? x(25)/* .
(b) Simplify. g————)———:(l”/‘—)" ,éi; ()

(.04) 72

(897) x(3.95)

,éd’ amédw,j £ (2).6

6.(a) Use log table to solve it. s3]

J5-+2 j { 3 1 1 J5-42
()] 1fx:——-———~,thenﬁndthevaluesofx—t—«—andx2+——— ,é }""uf"aéx2+——- 3l x+—=13n x=—————’—fl
J5+ 4o p o r 2 x G2 )]
7.(s) Factorize. w2 4+14x+48 ‘2;6 A @7
— xz—x—6+x2+2x—24 Yy
imp !fy. x2~9 xz_x_12 iy ed (b)
5(x -3) x
8.(a) Solve. & =gt 9 -éd’ (a).8
(p) Construct APQR and draw its altitudes from the given data. ,é;?( (UBU);/ éilulg’,lz APQR b 6!76: ()]

WRP =3.6cm, m£Q=30", mLP = 105°

9. Prove that any point on the right bisector of a line segment is Lﬁﬁﬂu;ﬂé!u,wt'(ﬁf[.ﬁ;ﬁu{ﬂugﬁfzéul? )
equidistant from its end points. ol
OR b
Prove that any point on the pisector of an angle is ,r,‘,tm,}*'Wl(j;t/c;w)JLLu’lﬁhﬁ/;z,wl:Lé_:Uszfzéab

equidistant from its arms.
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /= Uiy A B C D
.4——[7)7/’/.2—()’ ‘J("!)J}J'/b(ﬁ ﬂ.,a/LytaKU}l'f')) v’:(j’[p d—/)-('r[a (J‘)T‘J/L V/J’{ﬂ
1. | The product of two algebraic expressions is equal . . :
sum difference quotient product
to the of their H.C.F and L.C.M.
2. | A quadrilateral having each angle equal to 90°is _
Parallelogram Rectangle Trapezium Rhombus
calied: ,
v SIL LY S V799 —12ab
3. | What will be added to complete the square of ~164* _161)2 4p* —-45*
9a* —12ab ?
,;)71‘5_& 1600 mlieol “¢’ )f»;’lﬁjd'_,laj’iiiéwvg
4. | If the capacity ‘c” of an elevator is at most 1600 ¢ <1600 ¢ 21600 ¢ <1600 ¢ >1600
pounds, then: '
s S CL T (2,-3) B
, I
Points (2, -3) lies in quadrant: g B o2t
,UZL/é’.U:MJ fp/)nvgé.u/;éé/&
6. 41 31 241 111
The medians of a triangle cut each other in the ratio:
e J1osbatt 30xz, 45xy, 15x R
7. ) i > 90xyz 90x’yz 15xyz 15x*yz
L.C.Mof 15x7, 45xy, 30xyz is: _
a —~b*
~& Al b
+ 2 2
8. 2_p? ¢ (a-b) (a+b) a+b a-b
is equal to:
a+b
4 B0Ls¥(2,2) 4l (0,0) 4B \
9. ' a1, (1,0) M (-1,-1
Mid-point of the points (2,2) and (0,0) is:
Sedlzde, /‘ Hl 1 /,Juu/
10. 1 10 e 0
The logarithm of unity to any base is:
e flog, a x log, b
11. log, c log, a log, b log, ¢
log, a x log_ b can be written as:
e $T¥2ab(i+ iz)/u?%"
12. - 2ab ~2ab 2abi ~2abi
Real part of 2ab(z +1i )is:
fe SIS e bl s UF [ 5
13. | Which of the given sets have the closure property {0} {0~ 1} {0>1} LL \E’E}
w.r.t addition? .
NE
A N .
» . 0 \/f—z- (j/"’ }:C d'ﬂ) »b
14, —
V2 0 ) . zero scalar unit singular
is called matrix.
0 V2
YQL,KJL?G{/;.Q;q»U)/ '
15. 2-by-2 1-by -2 2-by-1 3-by-2
Which is order of a square matrix? s .
10-121-A-33000 %k %k ok
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Note:~ Section I is compulsory. Attempt any three (3) questions from Section II but question No.9 is compulsory.

i. Ifthe given triangle ABC is equilateral triangle

and ZE is bisector of an angle A4, then find the

values of unknown x°,y° and z°.

(Section—1 (J31.2)

2. Wirite short answers to any Six parts. (6x2=12) zé; v .:A,!I./'g L»lilg&&f .2
11 : : ¢ - 1 1},
i, Verify thatif B = sthen (B') =B BY =BJS&0.5iB= A
i fy [2 0} ( ) ( ) o ‘ 2 0 i
13
ii. Find the multiplicative inverse (if it exist) D=12 4 -(:fda/f)ér}”uf’(}/b’»./fi i
1 2
iii.  Simplify. 25x1"y*" EE i
iv.  Express the recurring decimal 0.67 as the rational ,4,,”5‘4 g#0 s p,gq .Q.éi{/;(l:'u‘-'- P m[f’bi’ 0.67 w1 f v
q
number £ \where p,q are integerandg # 0.
v. Express in ordinary notation. 5.06x10'° ,é‘ui(f:’/"(tp v
vi. Find the value of x log,64=2 ,ér}"’:/zdx Vi
Sx+2 >
vii.  Simplify. (x*-49). = B i
viii. Express in the simplest form. 396x°y" 2 _é’utd"w & viii
ix. Use the remainder theorem to find the remainder _LLL«”(‘;}T,{, (x+2) 7%’ -3x* +4x-14 ..gép"’é@émdé!,)’/ ix
when x° —3x? + 4x —14 is divided by(x + 2) :
3. Write short answers to any Six parts. (6x2=12) -aé; Felg F Lz by 3
i. Using factorization to find square root of: 4x* —12xy+9y* 4é()’”&/i/,ig(5)?;3/,§ K
ii. Solve the equation. P2x+3=3Yx-2 ,é’-_{d’fabl/ i
x+5 .
iii.  Find the value of x. e EepASx i
iv. Write x~2y=~2intheformy=mx+c. -&”fuf-f(jy=mx+cfx—2y:—2 v
v. Draw the graph of y =3x _g’__bc;l//b’y =3x v
vi.  Find the mid-point between pair of points. A("4,9) , B(-4,-3) -é(?’ﬂ&kz:?p}ﬁ[,}@' Vi
vii.  Find the distance between the pair of points. A(0,0),B(0,-5) _aé(:‘”.iﬂlé Obnd e sl i
vili.  Find the values of unknown X and # for ' /!J/(Sx»i mr:"’bcuﬁ%JU’f(ﬁ vifi
the given congruent triangles. ‘é’!f’w
ix. If ABCD is a parallelogram, find x A $ m ol x Intwni$nP L ABCD /1 ix
and m. ,ZE(;"”
4.  Write short answers to any Six parts. ,ég Pz E L g bf 4

A 45 AD U ABC &FLwligsls

,c’ff(:"’ AR ANE W o BB

(Turn Over 4&7@;)_




vi.

vii.

viii.

5.(a)

(o)

6.(a)

b

7.(

(b)

8.(a)

(b

- ¢ Swl-G2UY
,éwb;LJ’)_wuﬁqu(jCM[’yuf 7cm sl 4cm 3cm

3cm, 4cm and 7cm are not the lengths of the triangle. Give the reason.

Define Similar Tilanftest 4+ * S
Verify that the A having the meésure of a=5Scm, b=12cm, c=13cm ,ulfcj;uy’wdbu-iléﬁ
sides is a right-angled triangle.; _41)%:,/5@‘5",;@&%
Find the unknown value of x inj the figure. . -Zé(;’”oﬂ’:dx()”bgﬁy
! cm X
Icm
Define Altitude or Height of a tri?ang!e‘. ,ébyﬂdbw/lky
Find the area of the figure. ,éé(‘}”',?;h}a
; 4cm
Construct a AABC , in which: mAB =3cm, mAC =3.2cm, mZA=45° S &l ABC &
Define Point of Concurrency. | ‘ébﬂ;ﬂ’éﬁ(ﬂ

Section - II (»;47

 @ra=8) 60O A ALy g2 clig Lctir b7

Attempt any three questionsi. Each question carries Eight marks but question No.9 is compulsory (4+4=8)

Solve by the matrix inversion r%wethod. 32;;22;:2 _:iid’ 4.»:&} ~ LS
: 6.4 \5
Simplify. ' [5322_;%5’—2“} 4
Use log table to find the va|ueéof: 0.8176 x 13.64 -é;)”wfszdd»f/w
if m+n+p=10and mn+np+mp=27 then find the In mn+np+mp=27 1 m+n+p=10//l
value of m*> +n° + p*. , ‘é"if(}”ofgémz +n’+p?
Factorize. ' 8x° +60x* +150x +125 67
Find équare root. [x + %T - 4[)5 "'}{I , (x# 0) _é(}”@//b}g
Solve the equation. x22~1ﬁ xi—l = xil , x#tl _zéd’f_-,w
Construct AXYZ and draw |ts medians. _“Z;:/é—lbﬁéu’! s &L AXYZ
mXY =4.5cm, mYZ =3.4cm, mZX =5.6cm
Prove that any point on the bisector of an angle is _4,L~nywu5,l/4us,;,tl,mﬁv§lﬁ/,wth__,u‘f’fa{:_«/.b
equidistant from its arms. |
ofR L

Prove that any point on the ribht bisector of a line segment is ﬁ;ﬁﬁu:?ﬂéb/,whd;fiﬁaﬁo}iﬁsﬂﬁfémk
equidistant from its end point:s. Al L
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